Department of Administrative Services

KIMBERLY K. HOOD
Executive Director

Division of Facilities Construction and Management

State of Utah DAVID G. BUXTON

Director

JON M. HUNTSMAN, JR.
Governor

GARY R. HERBERT
Lieutenant Governor

ADDENDUM #3

Date: August 5, 2008

To: Contractors

From: Mike Ambre, Project Manager, DFCM
Reference: Noorda Black Box Theater Addition and Remodel

Utah Valley University — Orem, Utah
DFCM Project No. 08017790

Subject: Addendum No. 3

Pages Addendum 1 page
Architects Addendum 3 pages
Total 4 pages

Note:  This Addendum shall be included as part of the Contract Documents. Items in this Addendum apply
to all drawings and specification sections whether referenced or not involving the portion of the work added,
deleted, modified, or otherwise addressed in the Addendum. Acknowledge receipt of this Addendum in the
space provided on the Bid Form. Failure to do so may subject the Bidder to Disqualification.

While we contend that SB220 should only be potentially applicable to a contract issued after the effective
date of said bill, this is to clarify that for purposes of this contract, regardless of the execution or effective
dates of this contract, the status of Utah Law and remedies available to the State of Utah and DFCM, as it
relates to any matter referred to or affected by said SB220, shall be the Utah law in effect at the time of the
issuance of this Addendum.

1.1 SCHEDULE CHANGES - There are no changes to the project schedule.

1.2 GENERAL - Axis Architects — Addenda and Drawings, please see attached.

Lltah!

Where ideas connect

4110 State Office Building, Salt Lake City, Utah 84114 - telephone 801-538-3018 - facsimile 801-538-3267 - www.dfcm.utah.gov



| Axis Architects |
ADDENDUM - 3

Project: UVU Noorda Theater
DFCM Project Number: 08217790
Axis Project Number: 0804

To: Mike Ambre

From: Axis Architects

Date: August 4, 2008

Please make the following revisions to the construction documents:
Drawings:
2.1 Sheet GI101; From the Drawing Index, delete the reference to Sheet AE202. There will
be no drawing sheet AE202.
2.2 Add the Attached Drawing Sheet AE606.
Specifications: None

Structural: None

Mechanical: See the Attached Drawing Sheet MP102; refer to Architectural Addendum #1
(DFCM Addendum #2) which indicates this Drawing Sheet to be added.

Electrical: None

Theater: None

Note: This addendum shall be part of the construction documents. Items in this addendum apply to all drawing and
specification sections whether referenced or not involving the portion of the work added, deleted, modified or otherwise
addressed in the addendum. Acknowledge receipt of this addendum in the space provided on the bid form. Failure to do
so may subject the bidder to disqualification.

End of Addendum



/ % | B

‘ B5| DISPLAYSECTION

[ ©
1 2 3 4 5 E 5
2|_7" (f) Lurj')
-— % S
[}
< g
. 5/8" GYP. BD. ON HAT CHANNEL 5 g
— 1/8" THICK HARDWOOD EDGE BANDING z D 8
& STEEL GUARD RAIL . 3/4" PLYWOOD STIFFNER, 2 o
« WHERE OCCURS O . LAMINATED TO FRONT PANEL 2 -
] I — MECHANICAL FASTENERS FROM BACK © 3
e +— — —+F T =2
| =
. - - — L4 I -5
AT ¢
Q | =
'_
WELD TOP BRACKETS N S - D =
TO STEEL ANGLE i ! < a5
- | W
+ 2 1/2" x 3/8" PLATE RAIL | | 0 E
= %)
2 | 3/4" HARDWOOD PLYWOOD, . —
NI - 9 PLY - AB, OAK VENEER, >< &
- ) } | STAINED, MITERED CORNERS 2
S| T.0. SLAB ] ) ‘1 L METAL STUD CROSS BRACING | o o \I i\ Il ‘ o/ II ° i o < %
ELEV. L e Tt e ‘ * | ] 1 I\ 1 u
|‘ = o __—3/4" HARDWOOD PLYWOOD, 9 3 Z | P 2
\4 SCHEDULED WALL PLY-A/B, OAK VENEER, STAINED t 1/8" THICK HARDWOOD EDGE BANDING I —
’\4 _— METAL STUD BOX HEADER 3/4" HARDWOOD PLYWOOD, 9 |
3/4" & RUNGS AT 12" O.C. : R MECHANICAL FASTENERS FROM BACK PLY-A/B, OAK VENEER, STAINED |
o 34" PLYWOOD STIFFNER, L 3/4" PLYWOOD STIFFNERS, TOP AND |
= (2) 2x6 FIRE - TREATED WOOD LAMINATED TO FRONT PANEL BOTTOM, HOLD BACK FROM VERT. EDGES | —]
jo. Bemmme——— CONT. SEALANT AROUND BRACKET B & . HAT CHANNELS AT 16" O.C. |
N e | - —— 5/8" GYP. BD. ON HAT CHANNEL LINE OF GYP. BD. ABOVE, BELOW PANELS 1[5
3/8" PLATE SUPPORT BRACKET . _—J'TRIM ON 5/8" GYP. BD. 3 5/8" STUD TRACK, TOP AND BOTTOM |
FASTENED TO BLOCKING W/ (2) | — 3/4"x 3 1/2" STAINED LINE OF MASONRY WALL &
e 3/8" @ LAG SCREWS 0 HARDWOOD BASE > :
WHERE LADDER IS MOUNTED ON y A % | \)—
o STUD WALL, BOLT RAIL TO FLOOR . % . ~ I
SV—————
W/ (2) 1/4" EPOXY BOLTS EA. SIDE B . = | I_
ﬁ‘ . ) . :A a B R . Aq : |
- ‘1> - 94 ~ = - % (>4 = & C
C1| ACCESS LADDER R c2| PLYWOOD DETAIL ‘ | )
C3| PLYWOOD DETAIL | 314" HARDIWOOD PLYWOOD,
SCALE: 1 1/2"=1"-0" i SCALE: 1 1/2'=1"-0" SCALE: 1 1/2"=1-0" e 9 PLY - AB, OAK VENEER,
| B STAINED, MITERED CORNERS
| T LIJ
\ i | B
[ o LL]
| | VINYL TEXT ON BACK SURFACE
| / OF GLAZING m
| - L Z
(A5 | —
2 2 A
18-8" W I 3/8" TEMPERED GLAZING, SATIN — D
B / ETCHING, BACK SIDE, IN 3/4" x 1"
o . ANODIZED ALUMINUM TRACK
L TOP AND BOTTOM I I I
) T 5/8" GYP. BD. ON HAT CHANNEL LIJ
o PLY-AIB, OAK VENEER, S  TRIM ON 58" GYP. BD
STAINED | ’ I I | 3/4" x 3 1/2" STAINED —I I—
5 I HARDWOOD BASE —I
o TH=¢
! W/ﬁ
' I o > D

I I I I I I_
SCALE: 1 1/2"=1-0"
| | | | | >
B1| ENLARGED PLAN W/ PLYWOOD FINISH POCKET FOR PORTRAIT, PORTRAIT N.I.C. 5/8" GYP. BD. - PAINTED GEJ
SCALE: 1/2"=1-0" BACK SIDE, IN 3/4" x 1" ANODIZED ALUMINUM @)
TRACK TOP AND BOTTOM
_‘/1 WALL EDGE BELOW REVISION NUMBER AND DATE: I
GFRC COUMN NOTE: ARCHITECT TO APPROVE TYPESET 1/2" x 2" STAINLESS STEEL STANDOFF, _\ 4-0 | A 08/01/2008
AND SIGNAGE SHOP DRAWINGS - PAINTED BLACK, PROVIDE (2) MIN. PER \ \ ADD1
BRICK VENEER FLOATING AREAS OF SIGNAGE 38"
ALIGN SIGNAGE W/ COLUMN EDGE
1/4" STAINLESS STEEL PLATE SIGNAGE, #6 FINISH 1/4" STAINLESS STEEL PLATE SIGNAGE, #6 FINISH Lo 2 i i 2
/ N DECORATIVE SIGNAGE: 1/4" STAINLESS
o / \ STEEL PLATE, #6 FINISH N
| - / ] SCHEDULED WALL - AXIS JOB #: 0804 |
/ \ \ ="
S X i ' WNER JoB# 08017790
TR N / SCHEDULED WALL <+ o JOB#
.= +24-0" AFfF. B ﬁf —\ - iy \ | f DATE: August 01, 2008
= —= L e & /£ DECORATIVE SIGNAGE: 1/4" STAINLESS ] — N y — =1 E ' ’
=C,> m jg g_ﬁ m N { 3 o) 20_’ ( / STEEL PLATE, #6 FINISH ;OL | B — _ 4 ‘ DRAWN BY: -
N ‘ — == LOCATE STANDOFF AT MASONRY . ‘ i 1 ;
{ = i - | i
= - ] NIPZ —~ JOINTS WHERE POSSIBLE ” — | i [ LA = | A |__CHECKEDBY:
1/2" x 2" STAINLESS STEEL STANDOFF - —N‘ D_W I
[ FULLY WELDED TO SIGNAGE PLATE, 3/4" HARDWOOD PLYWOOD;
723N\ 723N\ PAINTED BLACK, PROVIDE (2) MIN. PER i \_ 9 PLY - AB, OAK VENEER, 4" METAL STUD FRAMM DETAILS
(\AEGGG/’ ‘_’\Agagaj - FLOATING AREAS OF SIGNAGE \ STAINED, MITERED CORNERS
hd it SET SCREW *\\ 5/8" GYP. BD. - PAINTED
10-11" 19" 10-9" 1/4" THREADED ROD, EPOXT ) 6" METAL STUD FRAMING
/ - EMBED 2" TO 3" MIN.
‘A1 SIGNAGE DETAIL TSR A5| DISPLAY PLAN
SCALE: 1/2"=1'-0"

SCALE: 1 1/2'=1'0"
1 2 3 | ! | -

P:\2008\0804-DFCM UVSC Black Box Theater\3-CD\AE606.dwg, 8/4/2008 10:34:14 AM, Boyd .,

Axis Architects, PDF995, 1:1



)

@& KEYED NOTES

1. 2" CHWS AND CHWR PIPE RISERS INTO INTEGRAL PIPE
CHASE OF AH-1, CONNECT TO CC-1.

2. 21/2° HWS AND HWR PIPE RISERS INTO INTEGRAL PIPE
CHASE OF AH-1, CONNECT TO HC-1.

3. 11/2" CHWS AND CHWR PIPE RISERS INTO INTEGRAL
PIPE CHASE OF AH-2, CONNECT TO CC-2.

4. 11/2" HWS AND HWR PIPE RISERS INTO INTEGRAL PIPE
CHASE OF AH-2, CONNECT TO HC-2.

© COPYRIGHT 2007 AXIS ARCHITECTS

(&3]

1T ov O

o

(o]

ST
OO I T T T OO

2
H ‘ ‘ |
|
!:lj £ = H I—F/ — IEBEDEEJMLD
) | | H— ¥
f '
; | | \2/ o
HWS i
| COSTUME
| SHoP li ll 1
28> 112 =
| LOADING {
| UL
l = 0
! @ 1/
| ., 00
A [ @ - '
ot | P P
\ ' l \@ 7 | fc= " y T
I_':j i " = \ T ! /- AEZ’\/:f — ﬁés\/% — | —
/ = %% HWR—= / % E | | (P
= | q IWS—men's |/l 0 |
|t li— CHANGING T uWS“tA = T /
T 2 o EH—WR—'N ~ (@) C 119 ) || ‘”WR nst_-: r L /
b4 ~— [ ALWD. ~ |
NS — ~ | resTrROOM CHUR D | TO AH—1
o N\ HIWS—a = ] o 21/2
e i R p— R ——
r —
—'u - P P SCENERY SHOP |
—] . . 116>
— //D = |2 %
- /O | I
’ WOMENIS s
/0 CHANGING v
| =mrl© G2y "
STORAGE ;@J . g 9 Pa
IRESIRAON TS — \_. VA 3? |
21 R z /A”_/' 4” u/ l/ ::'_x _ o — -
! ! b
Q o———— fos
/ o _-5/8"
\ / e =0\
! / SMALL BLACK N e
RECEPTION / BOX THEATER ON RI\SI)EOIS:IA CENTER GREEN ROOM
/ @ CONTROL ROOM|
1
| o
_______________________________________ N AN
—r I _ I ]
| HALL | HALL A
il il = = = =
‘AZ LEVEL 6 MECHANICAL PIPING FLOOR PLAN
SCALE: 1/8"=1'-0"
2

\

F 355-8578

P 355-3003

| Axis Architects

352 DENVER STREET SUITE 205, SALT LAKE CITY, UT 84111

No. 4775391
SPENCER W.

HOWELL

UTAH VALLEY UNIVERSITY
NOORDA THEATRE

Orem, UT

REVISION NUMBER AND DATE: I

AXIS JOB #: 0804 I
OWNER JOB #:

DATE: July 21,2008
DRAWN BY: RG

CHECKED BY:

LEVEL 6
MECHANICAL PIPING FLOOR PLAN

MP102



	08017790 Noorda Theater - ADD 2 8_5x11.pdf
	08017790 Noorda Theater - ADD 2 22x34.pdf
	AE606 Layout1 (1).pdf
	8193_MP102 MP102.pdf



